www.kaiser-kuehne.com T. +49 42 54 /93 15-0

© Kaiser & Kuihne Freizeitgerate D-27324 Eystrup

K & K Installation

Spatial view

(1090322]
pre-assembled rotary wheel with integrated bearing

play level mark (welding stud)
conforms to the mounting depth of
the post

[1090319]
- galvanised steel post - weld unit

[1090015]
ring-shaped steel foundation

Installation instructions

1. Assign a location for the equipment considering the impact area (free/falling
space).

2. Excavate soil for foundation, according to drawing.

Please note: To achieve maximum stability and a safe installation, a
moderate level of soil solubility is required.

3. Grout foundation with compressed concrete C20/25, insert ring-shaped steel
foundation into concrefe, install it on a level with top edge of foundation
(see detail) and align it with a spirit level.

k. After concrete foundation has set, fasten the bottom flange of the post to
the upper ring of the foundation anchorage: flange - washer - prevailing
torque type lock nut M16 (parts fixed to anchorage). Play level mark (welding
stud) complies with the installation depth.

5. Fasten the pre-assembled rotary wheel to the upper flange of fthe steel
post (see detail).

6. Due to forced movement, it is essential to cover the impact area with
shock-absorbing surfacing material which meefs the requirements for a
critical fall height of at least 1000 mm (acc. to EN 1176-5).

1. Check all screw connections according fo maintenance instructions after 4-5
weeks and refighten, if necessary.

Please ensure that all special tools (e.g. Allen key for secured Allen screws
etc.) and all specific documents which are or may be useful for safety
management acc. o EN 1176-7 (e.g. invoice, delivery note, order
acknowledgement, installation instructions, maintenance instructions) are
forwarded to the persons responsible.
. Item No. Description Scale Date Page
Installation 043512000  Big Skyflyer 1:50  10/23EB  1/3



AutoCAD SHX Text
[1090322] pre-assembled rotary wheel with integrated bearing

AutoCAD SHX Text
ring-shaped steel foundation

AutoCAD SHX Text
[1090015]

AutoCAD SHX Text
galvanised steel post - weld unit

AutoCAD SHX Text
[1090319]

AutoCAD SHX Text
1. Assign a location for the equipment considering the impact area (free/falling Assign a location for the equipment considering the impact area (free/falling space). 2. Excavate soil for foundation, according to drawing. Excavate soil for foundation, according to drawing. Please note: To achieve maximum  stability and a safe installation, a moderate level of soil solubility is required. 3. Grout foundation with compressed concrete C20/25, insert ring-shaped steel Grout foundation with compressed concrete C20/25, insert ring-shaped steel foundation into concrete, install it on a level with top edge of foundation (see detail) and align it with a spirit level. 4. After concrete foundation has set, fasten the bottom flange of the post to After concrete foundation has set, fasten the bottom flange of the post to the upper ring of the foundation anchorage: flange - washer - prevailing torque type lock nut M16 (parts fixed to anchorage). Play level mark (welding Play level mark (welding stud) complies with the installation depth. 5. Fasten the pre-assembled rotary wheel to the upper flange of the steel Fasten the pre-assembled rotary wheel to the upper flange of the steel post (see detail). 6. Due to forced movement, it is essential to cover the impact area with Due to forced movement, it is essential to cover the impact area with shock-absorbing surfacing material which meets the requirements for a critical fall height of at least 1000 mm (acc. to EN 1176-5). 7. Check all screw connections according to maintenance instructions after 4-5 Check all screw connections according to maintenance instructions after 4-5 weeks and retighten, if necessary. Please ensure that all special tools (e.g. Allen key for secured Allen screws etc.) and all specific documents which are or may be useful for safety management acc. to EN 1176-7 (e.g. invoice, delivery note, order acknowledgement, installation instructions, maintenance instructions) are forwarded to the persons responsible.

AutoCAD SHX Text
play level mark (welding stud) conforms to the mounting depth of the post


www.kaiser-kuehne.com T. +49 42 54 /93 15-0

© Kaiser & Kuihne Freizeitgerate D-27324 Eystrup

K & K Installation

Front view

max.

_—

dimension mark -
total height of the equipment

2,10

_|play level

ﬂ maximum free height of fall: 0,15 m

minimum space = 47 m?
(including 1 m free from obstacles,
surrounding the fall zone)

impact area 25 m?
(shock-absorbing surfacing mandatory)

Top view & impact area

| 1,11
. Item No. Description Scale Date Page
Installation 043512000  Big Skyflyer 1:50  10/23EB  2/3



AutoCAD SHX Text
1:100

AutoCAD SHX Text
minimum space = 47 m² (including 1 m free from obstacles, surrounding the fall zone)

AutoCAD SHX Text
play level

AutoCAD SHX Text
max.

AutoCAD SHX Text
dimension mark - total height of the equipment

AutoCAD SHX Text
max.

AutoCAD SHX Text
maximum free height of fall: 0,15 m

AutoCAD SHX Text
impact area 25 m² (shock-absorbing surfacing mandatory)


www.kaiser-kuehne.com T. +49 42 54 /93 15-0

© Kaiser & Kuihne Freizeitgerate D-27324 Eystrup

K & K Installation

Installation detail

bearing

upper part of the post

Foundation details

galvanised steel post \ffj

[1090322]

pre-assembled rotary wheel with integrated bearing

6x screw connection:
countersunk head screw
security hex-M16x30-A2

play level _|play level
‘ mark
\ 6x screw connection:
5 prevailing torque type hexagon nut
o DIN 985-M16-zinc-coated;
washer DIN 125-917-zinc-coated
o o a0 L e . a ‘ [ —ring-shaped steel foundation
< a 4% a W p . M . 4
< < . a 3 ﬁ Aq .
i MR T <+ 2 T—concrete
01,40
foundation (on site)
1x 1,40 x 1,40 x 0,70 m
(approximate) concrete needs
1,4 m?
. Item No. Description Scale Date Page
Installation 043512000  Big Skyflyer 1:20 10/23EB  3/3



AutoCAD SHX Text
prevailing torque type hexagon nut DIN 985-M16-zinc-coated; washer DIN 125- 17-zinc-coated

AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete

AutoCAD SHX Text
ring-shaped steel foundation

AutoCAD SHX Text
galvanised steel post

AutoCAD SHX Text
countersunk head screw security hex-M16x30-A2

AutoCAD SHX Text
[1090322] pre-assembled rotary wheel with integrated bearing

AutoCAD SHX Text
upper part of the post

AutoCAD SHX Text
bearing

AutoCAD SHX Text
play level

AutoCAD SHX Text
mark


	Pläne und Ansichten
	043512000m_me_mf-Seite 1
	043512000m_me_mf-Seite 2
	043512000m_me_mf-Seite 3


